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1 B X 3,100 2,756
2 BEME 2,000 2,049
. 3 X 1,700 1,575
A ™R 4 WX 600 1,027
5 EREX 3,250 3,001
6 3 i (X 4,100 3,963
S 2R AP AC T G 14,750
RATHRIPMFHE 14,371
7 X 3,850 3,580
8 KB X 3,800 4,165
. 9 KX 1,390 1,385
RH™HHR 10 B H X 920 1,166
11 5 # X 1,430 1,599
12 ERMX 3,050 3,669
REThREHHE 14,440
RahPRIHFERE 15,564
= b o 13 REHX 2,100 2,139
Sk 14 AR HX 1,700 2,696
RELTEEEH K 3,800
R HERE 4,835
15 X 2,400 3,086
16 ERsrEHX 2,300 2,399
— 17| HAR-BEEYORMK 3,050 3,180
%™ 18 1/ AR 1,650 1,791
19 KL F X 2,400 2,529
20 %5 [ 1 X 1,150 1,156
S ER A BG 12,950
RETEABHFRE 14,141
21 FEAaHX (L) 100 2,011
22 % E X 1,870 2,138
23 ZERMX 430 421
24 ZEEX 420 425
& mALEp 25 % T 260 281
26 % EIX 750 864
27 REHEHE 3,020 3,341
28 REIEH#HX 1,250 1,069
29 REFREESHX 1,180 1,639
2L EBEC R G 9,280
R F G 12,189
RETRERH 55,220
RATHREHFH 61,100
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